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QUESTION 1

What is the most likely response to a corrupt user index?
A. dbcc checkalloc.

B. dbcc checkstorage

C. drop index.

D. sp_fixindex

Correct Answer: C

QUESTION 2

Which of the following status values represent a suspect database?
Al

B. 32

C. 128

D. 256

Correct Answer: D

QUESTION 3
Given the following data from syslogs,how many user transactions are present?
Xactid op

0xa9100000400 0 0xa9100000400 4 0xa9100000400 30 0xa9100000700 0 0xa9100000700 5 0xa9100000700 30
0xa9100000b00 0 0xa9100000b00 9 0xa9100000b00 9 0xa9100000100 17 0xa9100000b00 30

Al
B.2
C.3
D.4
E.5

Correct Answer: C
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QUESTION 4

The master device is broken and you have to backup of the master database.

All other devices appear healthy . Which of the following commands will be helpful to you in this scenario ? (Choose 3)
A. Disk init

B. Disk refit

C. Buildmaster

D. Disk reinit

E. Dataserver

Correct Answer: BCE

QUESTION 5

The first page on a device fragment must? (Choose 2)
A. Be listed in the Istart column of sysusages.

B. Be listed in the low column of sysdevices.

C. Be an OAM page.

D. Be an allocation page.

E. Have a logical page number that is a multiple of 1024.

Correct Answer: AD
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